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Answer either n English or in Assamese 

1. Answer the following questions : 

(a) What is cardinal utility? 

1x10=10 

(b) State one assumption of utility analysis. 

( Turn Over ) 



( 2 ) 

(c) What is production function? 

(d) Define income effect. 

(e) What is marginal rate of substitution? 

() What is the shape of indifference curve in 
case of perfect substitutes? 

(g) Define expansion path. 

(h) What is meant by inter-temporal choice? 
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Define opportunity cost. 

i) State the concept of 'shut-down point' of 
a firm. 

(Continued ) 



2. Write 

questions 

(3 ) 

short answers of the following 

fa) What is meant by budget space or set? 

2x5=10 

(b) Distinguish between gross demand and 
net demand. 

(c) State the two conditions of consumer's 
equilibrium under indifference CUrve 

approach. 

24A/83 

(d) Distinguish between explicit cost and 
implicit cost. 

(e) State the concept of optimum firm. 

(Turn Over ) 
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